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Section 1 - Paperl-English Lanquage

1) Fill in the blank with correct prefix or suffix:

For efficient functioning the refrigerator needs to be ___frosted periodically.

A) de
B) re
C) un
D) im

2) Which of the following is the appropriate meaning of the idiom "When the band begins to play"?

A) When matters become serious
B) When we start to play a musical instrument

C) When matters become casual TeCh OfWO rl d . | n

D) When an event is inaugurated
3) Fill in the blank with the correct option:

Shashi as someone stepped on her toe and she was unable to on to the tray in her hand.

A) hold, howled
B) howled, hold
C) hold, holed
D) holed, hold

Passage questions (4-8)
Read the passage and answer the questions that follow:

During his first five years in Maycomb, Atticus practiced economy more than anything; for several years thereafter he
invested his earnings in his brother’s education. John Hale Finch was ten years younger than my father, and chose
to study medicine at a time when cotton was not worth growing; but after getting Uncle Jack started, Atticus derived
a reasonable income from the law. He liked Maycomb, he was Maycomb County born and bred; he knew his people,
they knew him, and because of Simon Finch’s industry, Atticus was related by blood or marriage to nearly every family
in the town.

4) Because of whom was Atticus related to everyone in town?

A) Simon Finch.

B) John Hale Finch.

C) Simon Finch's father.
D) Uncle Jack.
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5) What did Atticus invest his earnings in?

A) Maycomb county.

B) His brother's education.
C) Simon Finch's industry.
D) The cotton farming

6) When did Atticus' brother study medicine?

A) When Maycomb county was prosperous.
B) When Atticus studied economy.

C) When Atticus was poor.

D) When cotton was not worth growing.

7) What did Atticus practice more than anything?

) Medicine.

o = Techofworld. In

D) Education.

8) Who was Atticus' brother?

A) Uncle Jack.

B) Simon Finch.

C) The author.

D) John Hale Finch.

9) Which of the following is the appropriate meaning of the idiom "Back to square one"?

A) Back to the starting point
B) Back to the end point

C) Back to the no return point
D) Back to the mid point

10) Which is the correctly spelt word out of the following choices?....

A) intuitive
B) intuitiv
C) intutive
D) inteuitive
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Section 2 - Paperl-Education and General Awareness

11) The Pradhan Mantri Innovative Learning Programme launched in the year 2019, is also called as?

A) Valmiki
B) Agastya
C) Dhruv

D) Ganesh

12) Which of the following statements about frogs is INCORRECT?

A) Frogs drink water through the mouth
B) Frogs have moist skin

C) Frogs are poikilotherms

D) Frogs have the property of camouflage

13) As per the UGC regulations, private universities can-

A) establish an off-campus centre beyond state jurisdiction

B) affiliate an institution or college e C O WO r " n
C) establish an off-campus centre within state jurisdiction

D) offer courses in distance mode without the approval of UGC

14) The formation of which state spurred the struggle for making of other states on linguistic lines?

A) Guijarat

B) Kerala

C) Andhra Pradesh
D) Karnataka

15) Which among the following options is NOT considered an Alternate School?

A) Madrasas

B) Boarding School
C) Paathshaalas
D) Home School
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Section 3 - Paperl-Reasoning

16) Kailashpur is a place which is located 2 km away in the north-west direction from the capital Parsantgarh. Rohnipur
is another place that is located 2 km away in the south-west direction from Kailashpu. Motinagar is another place and
is located 2 km away in the north-west direction from Rohnipur.Taranagar is yet another place that is located 2 km
away in the south-west direction from Motinagar. In which direction is Taranagar located with respect to Parsantgarh?

A) West
B) North
C) North-west
D) South-west

17) Introducing Ram, Reena said, 'He is the only son of the mother of my mother', how is the Reena related to the
Ram?

A) Sister

o 1 €@chofworld.In

D) Cousin

18) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.

3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.
What is the distance from City A to City D in kms?

I. City A is 23 kms from City B.
Il. City B is 30 kms from City D.

Soz2
FNERY NN

19) In a certain code language, if 54 is coded as 20, 94 is code as 36, then how will 43 be coded in that language?

A) 15
B) 12
C) 10
D) 16

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

En A NS AS Lo 8w r

20) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4 if statements | and Il taken together are NOT sufficient to answer the problem.
When did Sanya leave her house to reach her office?

|. Sanya takes 15 minutes from her home to reach her office.

Il. Sanya should reach her office by 9:30 a.m.

Techofworld.In
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Section 4 - Paperl-Teaching Aptitude

21) Which of the following are the most appropriate learning conditions for a teacher to enhance the process of
learning?

A) Good content knowledge with poor communication skills

B) No content knowledge with good communication skills

C) Good content knowledge with very good communication skills
D) Good friendship with the students

22) Metacognitive strategies involve some of the following activities. Identify the activity which does NOT belong to
this group.

A) Thinking about the learning process
B) Ignoring how well one has learned
C) Monitoring the learning task

D) Planning for learning

23) Jasmindar rarely answers in class. When the teacher specifically points to her, Jasmindar hesitates and begins
to stammar. Which of the following disorders does Jasmindar have?

A) Retardation
B) Weak eyesight

o neamsasoer [ @CcOfwoOrld. In

24) Ramamurti Committee was formed in the year 1990 to review the

A) National Policy on detention
B) National Policy on Education
C) Sarva shiksha Abhiyan

D) SCERT

25) Match the following words with their definitions:

1. assimilation a. a conflict in thinking due to cognitive conflict.

2. accommodation | b. incorporating new information into existing knowledge.
3. schema c. mental representations that organise knowiedge.

4. disequilibration | d. making new adjustments to knowledge and changing it.

A) 1d, 2a, 3b, 4 c
B) 1a, 2b, 3¢, 4d
C) 1b, 2d, 3c, 4a
D) 1c, 2a, 3b, 4d
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26) Operation Black-Board Programme was launched to provide minimum essential facilities to support teaching
learning for which level of education?

A) Pre Primary

B) Secondary

C) Primary

D) Higher Secondary

27) Which of these can be considered as the chief goals of institutes based on pragmatist school of thought?

A) l|deas are important not their end goals

B) Prime aim of life is to achieve spiritual values

C) Real knowledge is gained by experiments and experiences
D) Nature is everything nothing is before and beyond it.

28) The process of interpreting the encoded message from the sender is referred to as

A) booking
B) decoding

o =omirs [ @chofworld.In

29) The teacher is trying to train his students in muscular coordination. Which of the following types of Learning would
be most appropriate?

A) Cognition learning

B) Verbal learning

C) Motor learning

D) Discrimination learning

30) Microsoft has equipped more than 7.4 lakh government school teachers with IT skills under which project?

A) Project Shiksha

B) Project Samsiddhata
C) Project Sharan

D) Project Samruddhi
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Section 5 - Paperll-General English

Passage questions(31 — 35)

Read the following passage and answer the questions given below:

Australia’s Great Barrier Reef is currently experiencing its third mass bleaching in just five years — and it is the most
widespread bleaching event ever recorded. Bleaching occurs when corals experience periods of unusually high
summer sea temperatures, and they eject the symbiotic algae that both nourish corals and give them some of their
colors. While scientists saw reefs in the northern and central regions of the Great Barrier Reef begin to recover
following 2016 and 2017, they now have concerns that progress has been for nothing.” “They are just getting
hammered by these repetitive, destructive heat waves,” says Ove Hoegh-Guldberg, who studies coral reefs at the
University of Queensland in Brisbane, Australia. “If this continues over the next 10 years or so, there won't be much
of a Great Barrier Reef left.” Hoegh-Guldberg further advices, “ldentify those areas that are least exposed to climate
change and which have the greatest role to play in any renewal.

31) Algae are important for coral beds because

A) they live on the coral beds

B) they push the coral out of the sea

C) they protect and give coral their colour
D) the coral beds live on the algae

32) Australia’s Great Barrier Reef is currently experiencing

A) its fith mass bleaching in just three years
B) its third mass bleaching in just fifteen years

C) its third mass bleaching in just five years Te C h OfWO rl d ] I N

D) its fifth mass bleaching in just five years

33) Bleaching of coral beds occurs due to

A) renewal strategies of nature

B) heat waves caused by climate change

C) rising summer temperatures every year
D) the algae cover caused by climate change

34) The only way to prevent further damage to coral beds (according to researchers) is to

A) let nature take its course in its own way
B) allow bleaching damage in some areas
C) identify healthy beds to preserve

D) stop climate change as soon as possible

35) Bleaching of corals here means

A) throwing out the parasitic algae
B) changing the colours of the corals
C) cleaning and making corals pink
D) losing protective algae and colour
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36) The antonym of 'Concealed' is

A) obvious
B) arcane
C) deep

D) difficult

37) Which of the following sentences is an exclamatory sentence?

A) How incredibly beautiful woman she is!

B) What an incredible, beautiful woman!

C) What an incredibly beautiful woman she is!
D) How incredibly beautiful she is woman!

38) Select the sentence which is correctly punctuated.
A) | like playing with my sister’s Betsy, muriel Sara
B) i like playing with my sisters betsy muriel and Sara

C) i like playing with my sisters’ betsy, muriel and Sara
D) I like playing with my sisters Betsy, Muriel and Sara.

39) Choose the correct spelling of the missing word.

The test was quite tough.

A) grammer

B

oz | €Chofworld.In
D) gremmar

40) Choose the correct form of the word in bold in the sentence.

There is scarce of food in the city.

A) scary

B) scarcity
C) scarcely
D) scarcer

41) Select the correct choice to fill in the blank.

My elder sister her engineering by the time | have completed school.

) will have completed
) will complete

) will be completed
D) will have completing

A
B
Cc
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42) The synonym of 'Predict' is

A) recast

B) calculate
C) downcast
D) forecast

43) Select the correct verb to fill in the blank.

I this diet food.

A) liking

B) am liking
C) like

D) being liked

44) Replace the word in bold with its synonym.

The people congregated in the townsquare to listen to the dictator.

A) foregather
B) conflagrate

oaae | @Cchofworld.In

D) disperse

45) Which of the following sentences is in Active voice?

A) | saw some people killing a snake with a stick.

B) With a stick they killed a snake and it was seen by me.
C) The killing of a snake with a stick ws seen by me.

D) They saw their killing of a snake with a stick by me.
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Section 6 - Paperll-Odia Lanquage
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Section 7 - Paperll-History and Political Science

58) Which of the following facts confirm that Ram Mohan Roy took a keen interest in international events and
everywhere he supported the cause of Liberty, Democracy, and Nationalism?

A) He demanded that the land revenue should be permanently fixed
B) He celebrated the success of the Revolution in Spanish America
C) He was not a pioneer of Indian journalism

D) He protested against the taxes on tax-free lands

57) What was the immediate cause of the first world war?

A) Assassination of Archduke Ferdinand
B) Austro-Hungarian attack on Serbia
C) Serbian attack on Austria-Hungary
D) Assassination of Gavrilo Princip

58) Who said this for Raja Ram Mohan Roy?

"Rammohun was the only person in his time, in the whole world of man, to realise completely the significance of the
Modern Age."

A) Mahatma Gandhi
B) Gopal Krishna Gokhale

C) Rabindranath Tagore TeCh OfWO rl d = I n

D) Vivekananda

59) East Indian Company persuaded the Mughal emperor Aurangzeb to issue a farman granting the Company the
right to trade duty free. What did it imply?

A) British East India Company did not have to pay any taxes in Mughal territories
B) French East India company did not have to pay taxes anywhere in India

C) British traders did not have to pay taxes anywhere in India

D) None of the British traders had to pay taxes on import in Mughal territories

60) The 'Judicial Review' function of the Supreme Court means ?

A) Review its own judgement

B) Review the functioning of judiciary in the country
C) Periodic review of the Constitution

D) To examine the Constitutional validity of the laws
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61) Read these two statements in context of the First World war in 1914 and choose the conclusion that logically
follows:

I. Germany pledged its support to Austria-Hungary
Il. Austria-Hungary sent an ultimatum to Serbia with harsh terms

Conclusions

I. Austria-Hungary could not threaten Serbia in absence of German support
Il. Austria-Hungary wanted to start the first world war

Ill. Germany was a strong nation

IV. Austria-Hungary always sought German support

A) Only | and Il follow
B) Only Il and IV follow
C) Only I and IlI follow
D) All

62) The Fundamental Rights were embodied in the Constitution to ensure what?

A) Equality
B) Individual Liberty

8; gzcr;}lltlnirri:t?:: Government Te Ch OfWO rI d . I n

63) What does the following statement given by a British officer imply?

"Our system acts very much like a sponge, drawing up all the good things from the banks of the Ganges, and
squeezing them down on the banks of the Thames".

A) Technological superiority of Britain over India
B) Trade relations between India and Britain

C) Drain of wealth from India to Britain

D) Migration of people from India to Britain

64) The case 'Sarbajit Roy Vs DERC in the late 2006 is related to which of the following rights?

A) Right to property

B) Right against exploitation
C) Right to equality

D) Right to information
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65) The writs of prohibition is issued by SC/ HC against what?

A) Government and Administrative Authorities
B) Administrative and Judicial Authorities

C) Judicial and Quasi Judicial Authorities

D) Administrative Authorities only

66) Who elects the representatives of state in the Rajya Sabha?

A) President

B) Governor

C) Chief Minister

D) Elected members of the State Legislative Assembly

67) Why did the Cripps Mission fail?

A) British wanted Gandhi to withdraw Quit India Movement

B) Congress demanded immediate transfer of effective power to Indians
C) Muslim League demanded immediate partition of India

D) British wanted Indians to help them in the second world war

68) Which of the statement is True about the National Assembly constituted on June 17, 1789 in France?

I. Only the Third Estate was part of it

Il. It was initially recognised by the King Louise XVI

A) Only Il
B) None of the statements is correct

C) Both the statements are correct TeCh OfWO rI d - I n

D) Only |

69) In 1809, Ram Mohan Roy wrote his famous work Gift to Monotheists in Persian. Which of the following statements
is correct regarding this work?

A) It ridiculed Hindu beliefs

B) It argued against belief in many gods

C) It criticized Brahminic traditions

D) It promoted the idea of converting to Islam

70) Who was the first Governor-General of the British territories in India?

A) Richard Wellesley
B) Warren Hastings
C) Robert Clive

D) Charles Cornwallis
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71) If Mughals were for Cavalry; British were for

A) Infantry
B) Machine Guns
C) Muskets
D) Canons

72) Which of the following beliefs was the main cause for the opposition to the education of women?

A) Educated women would not depend on men

B) Educated women would demand share in property
C) Educated women would talk too much

D) Educated women would lose their husbands

73) Which Fund was started to finance the non-cooperation movement in 19207

A) Tilak Swaraj Fund
B) Sawaraj Fund

o aanvesansain e T @achofworld. In

74) Why did Mahatma Gandhi suspend the Non-cooperation movement after the Chauri Chaura incident?

A) Gandhi was arrested leaving the movement without any leader

B) Many people died and property was destroyed

C) People had neither understood nor learnt the practice of non-violence
D) British government offered a very good settlement to Indians

75) If a 10 year old boy is engaged in a hazardous job in a soap factory. Which Right is violated?

A) Right against exploitation
B) Right to equality
C) Right to freedom
D) Right to property
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Section 8 - Paperll-Geography

76) New technologies, factories, buildings, machinery and other equipments are components of which type of Capital
in types of economic resouces?

A) Infrastructure

B) Capital Productivity
C) Working Capital
D)

Fixed Capital

77) Which of the following is an example of in-situ conservation?

A) biosphere reserve
B) zoos

C) botanical garden
D) aquarium

78) Which city is called the "Silicon Valley of India"?

Mumbai
Delhi

A)
g); Kolkatta e-l-eChOfWO rld : I n

Bangalor

79) How many time zones Canada share with USA?

gom=z
PR

80) Which state has the largest forest cover in India?

A) Karnataka

B) Madhya Pradesh
C) Chattisgarh

D) Arunachal Pradesh

81) The Great Depression lasted from

A) 1900 to 1908
B) 1947 to 1987
C) 1929 to 1939
D) 1918 to 1923
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82) Ramsar Convention is an international treaty which was signed in Iran in 1971. In India it came into effect on
February 2, 1971. The treat was signed for the conservation of what?

A) Ozone Layer
B) Water

C) Wetlands
D) Forest

83) Which is the current global time standard?

A) GMT
B) UTC
C) IST
D) EST

84) Which of the following is a method of ex situ conservation?

A) Seed Banking

o aestn T @chofworld.In

D) Wildlife Sanctuary

85) What is the primary goal of subsistence farming?

A) feeding the farmer's family
B) increase crop yield

C) profit

D) commercialisation

86) Afforestation is defined as?

A) protection of forest cover

B) the process of replantation of trees of an area

C) planting more trees

D) the process of creating a forest by planting trees on a barren land

87) Telangana is the latest and 29th state which was formed in India. In which year did Telangana became an official
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88) Which of the following is the southern most point of India?

A) Kanyakumari
B) Indira Col

C) Barren Island
D) Indira Point

89) What type of vegetation is found in equatorial regions?

A) Tropical Evergreen forest
B) Coniferous forest

C) Temperate Grassland

D) Decidous forest

90) Which of the following is the wettest place of the world?

A) Cherapunjee
B) Sunderbans
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1|A 5l € 6l | C
21A 32| C 62| B
3B 33| C 63| C
4 A 34| C 64 | D
5/B 35| D 651G
6D 36 | A 66 | D
7B 37 '@ 67 | B
8D 38D 68 | D
91 A 39| B 69 | B
10 A 40 | B 70 | B
11|C 41 | A 71 | A
121 A 42| D 721 A
13 |'€ 43 | C 73| A
14| C 44 | A 74| C
15| B 45 A 751 A
16 | A 46 | D 76 | D
17| B 47| D 77 | A
18D 48 | A 78 | D
19| B 49 | D 79 | D
20| B 50D 80 | B
21 |2 51| B 81 |C
22 | B 52| D 82| C
23 [ D 33 | C 83| B
24 | B 54 A 84 | A
ZRC 55|1C 85| A
26 | C 56 | B 86 | D
271 C 57T | A 87| B
28 | B 58| C 88| D
29| C 59 | A 89| A
301 A 60 | D 90 | C
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